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Year 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
Gross Revenue | 750y | 7750 | g370 | 9320 | 9300 | 9450 | 8960 | 9300 | 9680
(in million $)
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[image: image2.png]41.1 saw this advertisement for a sports grill restaurant called Wing Zone. How does this price
compare to the BW3’s wing night where wings are $.45 a piece? Which is the better deal? Explain
your answer fully.





Use the table below and a graphing calculator for Exercises 42 through 43.  (Let x = 0 represent 1980.)  
[image: image1.png]40. A 12-0z bottle of cleaner costs $3.74. A 16-0z bottle of cleaner costs $5.34. Which bottle would
be the best buy?
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42.
Write an equation for the trend line.  Round to the nearest thousandth.


43. According to the data, what will the estimated resident population in Florida be in 2020? 
[image: image4.jpg]Florida Resident Population

Year 1980 1990 1995 | 2000 | 2002 | 2003 2004 | 2005 2006

Population 9746 | 12,938 | 14,538 | 15,983 | 16,682 | 16,982 | 17,367 | 17,768 | 18,090
(in thousands)
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Use the table below and a graphing calculator for Exercises 44 through 45.  (Let x = 9 represent 1999).  
44. Write an equation for the line of best fit.  Round to the nearest thousandth.
45.
According to the data, what will the estimated gross
revenue be in 2015?   
[image: image3.png]*

x.

4455 556 657758859 9510

shoe size




46.
During an eighth grade math class, the students compared a person's shoe size to their height. After listing each student's data in a chart, they used this information to produce a scatter plot.  Use the scatter plot above to determine the trend line for the data collected.

A.
y = 3x –13


B.
y= x + 3


C.
y=-3x + 23


D.
y=- x + 3
